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= From the theoretical point of view, explain thoroughly whether the effluent

PH of the anaerobic fluidized-bed bioreactor system increases or decreases
when the high-strength organic wastewater is treated. (> )

Y9 ~ Reactants A and B are mixed, and each of reactants is at initial
concentration of 0.1 M. Calculate the reaction rate constant from the

following data:
Time (sec) 325 1295 1530 1975 .
% reacted 31 64 69 75 (>¢6)
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A METFHRE: (>6)

9-1 &% — M X (Tipping bucket) ME 32 R 0 A J0%2 & A & #H 5 P74 » A de sk X 4% & & 75130
2 FARB AR AK0cn MM EXZRERALTF? GH)

0-2 ARBLwEHES A>BrCrDr b~ A ARDZEMA L RELTLA  ALAXEY DI
BBRBXEHE ARZBL - A AARLIFEELTEE RABMIBALL - A AARZIEE?
AP@EFAmEELL o (159)

wmE%k A B C D wkk A B C D
A 60 65 70 67 A 55 66 15 ?
AR 50 55 65 60 AR 4T 50 45 ;

AA 45 47 60 55 A 45 40 55

T~ KMATHME: (>75)

10-1RERRERA LHXMEREHZELRAM? L XBERENFARLBRZA HEREHE
BEDA > RiwTRE? Go)

10-2% Mk B HA0OKm? s 4% ~ R HRABARAHLERABMIZ AT LMD TR RERRFZA
MR EsrA3hr o B EUI I HREBBUGH? FIAHE s TLWEe  (159)

8% B M (hr) i#. % (cms) % i (cms)

3JA18 2 50 50
5 47 47

8 75 46

11 120 45

14 225 45

17 290 45

20 270 46

23 ‘145 48

3A28 2 110 50
5 90 53

8 80 54

1 70 57

14 60 60

17 55 55

20 51 51

(REBAEL, g eD)
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13. A synthesis gas of the following composition: 4.5% COz.26.0% CO, 13.0% Hz,
0.5% CHa, and 56.0% Nz is burned with 10% excess air. The barometer reads 98
kPa. Calculate the dewpoint of the stack gas.

Vapor Pressure Pu:o (mmHg)=18-[3816/(T(k)-469)]. ( M%/

14. Determine the range for the Gibbs energy of mixing for an ideal 30/70 mixture at
300K. How does this value limit Hmix? (»%)






